
	Вариант 213
Вычислите:

1)  12,8+7,1= 19,9
2)  12,4 - 6,3= 6,1
3)  11,3+8,3= 19,6
4)  17,69 - 4,3= 13,39
5)  17,036+3,77= 20,806
6)  18,749 - 7,18= 11,569

	Вариант 324
Вычислите:

1)  15,3+3= 18,3
2)  16,1 - 4,5= 11,6
3)  17,27+5,9= 23,17
4)  16,93 - 3,2= 13,73
5)  10,422+8,91= 19,332
6)  19,888 - 7,38= 12,508

	Вариант 435
Вычислите:

1)  17,3+6,6= 23,9
2)  10,3 - 4,5= 5,8
3)  12,9+4,4= 17,3
4)  19,56 - 4,8= 14,76
5)  14,529+6,55= 21,079
6)  17,09 - 3,02= 14,07

	Вариант 546
Вычислите:

1)  16,3+3,6= 19,9
2)  12,7 - 7,2= 5,5
3)  10,89+8,9= 19,79
4)  13,56 - 5,4= 8,16
5)  19,999+3,22= 23,219
6)  13,287 - 3,2= 10,087


	Вариант 657
Вычислите:

1)  14,2+8,8= 23
2)  19,2 - 8,1= 11,1
3)  13,31+4,7= 18,01
4)  14,66 - 8,9= 5,76
5)  16,585+4,73= 21,315
6)  17,167 - 6,59= 10,577

	Вариант 768
Вычислите:

1)  17,3+6= 23,3
2)  10,2 - 3= 7,2
3)  19,99+5,5= 25,49
4)  15,4 - 7,8= 7,6
5)  11,039+4,77= 15,809
6)  15,178 - 5,31= 9,868

	Вариант 879
Вычислите:

1)  13,4+6,5= 19,9
2)  10,3 - 3,1= 7,2
3)  12,87+8,2= 21,07
4)  14,22 - 3,7= 10,52
5)  11,373+3,05= 14,423
6)  18,536 - 5,26= 13,276

	Вариант 981
Вычислите:

1)  14,8+4,5= 19,3
2)  10,1 - 7,4= 2,7
3)  13,83+6,4= 20,23
4)  17,3 - 7,6= 9,7
5)  15,546+8,3= 23,846
6)  11,323 - 5,71= 5,613
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	Вариант 213
Вычислите:
1)  12,8+7,1= 
2)  12,4 - 6,3= 
3)  11,3+8,3= 
4)  17,69 - 4,3= 
5)  17,036+3,77= 
6)  18,749 - 7,18= 










	Вариант 324
Вычислите:
1)  15,3+3= 
2)  16,1 - 4,5= 
3)  17,27+5,9= 
4)  16,93 - 3,2= 
5)  10,422+8,91= 
6)  19,888 - 7,38= 
	Вариант 435
Вычислите:
1)  17,3+6,6= 
2)  10,3 - 4,5= 
3)  12,9+4,4= 
4)  19,56 - 4,8= 
5)  14,529+6,55= 
6)  17,09 - 3,02= 
	Вариант 546
Вычислите:
1)  16,3+3,6= 
2)  12,7 - 7,2= 
3)  10,89+8,9= 
4)  13,56 - 5,4= 
5)  19,999+3,22= 
6)  13,287 - 3,2= 

	

Вариант 657
Вычислите:
1)  14,2+8,8= 
2)  19,2 - 8,1= 
3)  13,31+4,7= 
4)  14,66 - 8,9= 
5)  16,585+4,73= 
6)  17,167 - 6,59= 








	

Вариант 768
Вычислите:
1)  17,3+6= 
2)  10,2 - 3= 
3)  19,99+5,5= 
4)  15,4 - 7,8= 
5)  11,039+4,77= 
6)  15,178 - 5,31= 
	

Вариант 879
Вычислите:
1)  13,4+6,5= 
2)  10,3 - 3,1= 
3)  12,87+8,2= 
4)  14,22 - 3,7= 
5)  11,373+3,05= 
6)  18,536 - 5,26= 
	

Вариант 981
Вычислите:
1)  14,8+4,5= 
2)  10,1 - 7,4= 
3)  13,83+6,4= 
4)  17,3 - 7,6= 
5)  15,546+8,3= 
6)  11,323 - 5,71= 



